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For each question from 1 o 14, fb{;r~cptions are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4) and shade your answer on the Optical Answer Sheet.
7 - {28 Marks]

1 Which of the following characteristics are similar between animals and planis?

A: Both grow

B: Both reproduce

C: Both grow towards sunlight . S

D: Both need air, food and water to carry out life processes

(1) AandBonly
(2) CandD only

- {3) A, BandDonly
{(4) A.B,CandD

2 The table below shows the characleristics of three animals, A, B and C.

~ [ AnimalA [ AnmalB | AmmalC
Where it lives wa;ér land waler '
ts oulejr,cbi(ér'ing::, = har | scales . scales
How it repwduces“ , gives bith . layseggs - lays eggs

Which of the following shows the groups that animals A, B and C most likely belong

to? , '
' AnimalA -~ | ° AnimalB Animal C
(1) mammal 1 replile - amphibian
2) 1 “mammal : replile - fish
(3) amphibian fish , replile
@i amphibian ‘ mammal fish
”
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ngesbon begms in ihe stomach
Digested food is absorbed in the gul!et

Excess water is absorbed in the large intestine.

: Which one of the; foilowing statements, is true about human digestive system?

Undigested food is absorbed into the bloodstream.

e The chart below shows how oxygen and dzgested food are transported m the :
& human body

Cwe breathe in

: is'cdafer
(2) has more oxygen

e > Organ A | |
~ blood S blood
- vessel X | : 'VeSSS! Y
| Small o
mtestme
Which of the following is éorrect?-‘ -
e OkganA Oxygen atXcompared 'Gige‘sted foodatY
s S oY compared to X
1) Lungs lLess More
(] lungs More Less
(3) |  Heart Less ~ More
4) _ Heart Less Less
The asr we breathe out thén the air that

(3) has less water vapour
(4) < has more carbon dioxide




Mr Sim observed that hyis‘ resting breathin‘g rate is‘faster at an altitude of 5000m
compared to at an altitude of 0 m. *Altitude’ refers to the height above sea level
as shown in the diagram.

. sea

Based on the alt:tude which of the followsng table shows the percentage of
oxygen in mhaied air and h;s restmg heafi rate correctly?

M —
s () [P SOV g ot

o 20.’3; , 1 70
5000 11.2 B T g5
(2 — percentage of oxygen S ,
altitude {m) | in inhaled air {%) - resting heart rate
0 11.2 ' 70
5000 200 95
) aititude (m) P e;:eirr:; gi: dozii?((;ég)en resting heart rate
0 [ 20.9 g5
5000 112 70

)

| percentage of oxygen:

altitude (m) in inhaled air (%) | resting heart rate

o ' 20.9 ' 70
5000 - 208 70




7 The diagram befow'shcywé apia’nt., . -

greenstem




8 Ahmad prepared four set-ups using four similar beakers A, B, C, D as shown in
the diagram below. All the beakers have 300 ml of water. Beakers A, B and D have
a layer of oil but not Beaker C. He placed the set-ups next to an open window.

~ beakerB beaker C - beaker D
He observed the volume of the water in the four beakers over seven days and
recorded the results in the graph shown below. : :

Volume of water

in the beaker (ml) il ;
300 ~graph P
250 graph Q
200 graph R
150
00 [ -0 Eees e g S
50

0 1 2 3 4 5 8 7 Numberofdays

Which of the foliowingfbeakers correctly match with graphs, Q and R?

GraphQ | GraphR
) D | A
2 D | B
(3) B c
(4) B A




; June conducted an expenment usmg two xdentxcal plants X and Y. She cut out

d:fferent thzckness of =
oute‘rk nng’removed ,

b o ..

ASNYARIE o ) -

- plant X

Aﬁer one day, June observed that ﬂowers of piantx tumed biue but ﬁowers of
plant Y remamed whxte Which one of the foi!owmg explams June s observatson?

Type of tube(s} removed in :  :; o
Plants X ,: 'f}; — Plants v
m | k food carrymg tubesonly food and water carrymg tubes, i
@] food carrymg tubes only - ,;1%;:: none
3) o none B food carrymg tubes on}y
(-4) -~ food and water carying tubes | food and water carr’ymgﬁtizbes —



10 Peter folds his blanket every morning after getting off from bed as shown below.

 The blanket can be folded because itis __

- &=

blankét : ' '  folded blanket

e
(2 strong - \

. (3) flexible

11

(4y waterproof

Which of the following shows a closed electrical circuit?

() ———— @ h

@ @




12 Four metal pms, A, B, C and D, were fi f xed onto a cardboard. The diagram bel
shows the pms and front sxde of the cardboard where the pms were ﬁxed on.

front

i S (metalpmsﬁxeg e
S onto cardboard)  ~ .

' metaf pins

Fsgure 1 :
Some of the metal pms were connected with wires behmd the cardboard
Gary used a circuit tester with a bulb to connect o d:fferent pairs of metal pms; ‘
He recorded hls resuits inthe table befow :

 Circuit tester connected to meta! pins | Bulb lighted up on circuit tester |
","AandB = T . No ,
 BandC : -~ Yes
AandD |l N
CandD | Yes

Which one of the following shows the wire connections at the back ofthe

cardboard?

(1 |o—0rp @ | —0»
& D C D

® s R B —
. i
. D C D




12 Paulsetup two circuits using objects; P, Q and R. The bulb in the circuit with
objects, P and Q, lighted up whereas the bulb in the c:rcmt wsth objects, Q and R,
. did not light up.

mb' didsnc{ light up

He then set up another new cxrcuxt usmg the same objects P Q and R, as shown
below. :

How many bulbs will be lighted up in the new circuit?

(1) six
(2) two
(3) three
(4) four

10



14 | Jerry. set up a circuit below with three bulbs. He wanted to find out how the
amount of electric current flowing through the csrcutt will affect the bnghiness of

bulbSandbulb T,

| electricity

supply

. buabs

bulb T :

®y,

He mcreased the amount of electric current ﬂowmg through the csrcmt and
“recorded the brightness of bulb S and T each time, then plotted his findings on

(1 :
b,nghtne'ssi ,
- bulb’T
- e ; |
- ‘
-7 ¥
” B i
amount of electric current
(3
brightness
fof bulb —bub S
~~ bulbT
7
7z 1
V.
N
e | >
amount of electric current

11

a graph Wh:ch graph below would show the resuits of h;s expenment'?

brighfness
e - = bulb T
’ y ,
b
,1/ oy
7oA
/ 1
" , |
amount of electric current
(4) ;
‘ brightness |
+of bulb bulb S
‘ ——bubT
amountof et’ectﬁc current
: (go to Booklet B)
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{a)

)

The diagram shows a human organ syslem.

Identify the 6rgah system,

State the function of part X.

!

Liner than X, name another two patis of this system,
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Ahmad carried out an experiment using similar plants with different number of

leaves in three set-ups A, B and C as shown below.

Set-up

A

- Number of leaves on the plant

20

30

40

, A
Volume of
waterin |
beaker*(ml) ,

A

B

.

N

0

Volume of water at the
start of experiment’

Volume of water at the
end of experiment

Based on the g?ap’h, what is the relaiionship:betWeen the number of leaves on
the plant and the volume of water in the beaker at the end of the experiment? [1]

Ahniad studied the leaf diagram under a microscope showing the openings. The
arrows show the movement of gases such as carbon dioxide, oxygen and water
vapour through the openings when the plant is placed in the presence of light.

oxygen

opening

water vapour

opening

carbbn dioxide

Question 16 is continued on the next page



(b)  Whatis the name of the opening? | | [1]

{c) ,U’éi'ng' the graph and the leaf diagram, explain why some trees shed most of their
leaves ina dry season. o [2]




17 Karl placed a magnet H above magnet G through a wooden rod and observed
magnet H suspended in the air as shown below.

! wooden rod
]

i

5

‘. magnetH
| I
P ; A magnetG
o : ‘ net ;
/ 5 /
{a)  Explain why magnet H would befsyuspe'nded above magnet G. [1]

{(b)  Karl removed magnet H and inserted a steel ring, then piaced magnet H back into
the wocden rod without flipping it.

T

ng steel ring
Al .

Al placed in between)

.

What is the change Farl will observe? Explain the observation.




18  Jacob set up two circuits, 1 arid-z, foran yexpérime’nt

ercuzt‘l | o ercmtz
Jacnb measured the txme the buibs in each cxrcuxt remamed l}ehied up.

{a) What ss 2he anm of Jacob’s expenment’? ” | | | 1]

(b)  Jacob wants to setup a circuit foi;jaibg,tt’i?ry—bberated reading 1ramp.

. reading lamp

Which circuit, 1 or 2, would 'yo't,i 'suggést' for this reading lamp? Explairi why. [2]




19 Khairul wants to make a toy volcano that can light up at the top and make some
sound.

5

Toy volcano

{a) Using wnres and two switches, draw the electnc c:rcust dxagram for the toy volcano
in the box below.

)} The bulb should light up as bnghtly as possible.
iiy The volcano should be abie to light up and make sounds mdependentiy [3]

speaker

N

{b)  Suggest one way that Khairul can make his toy produce a !oudei' sound. [1]




20

Nanda set up an experiment below to test the electncal conduchvxty of water with
different amount of salt. ~

mat‘eria! P

- "He recorded his results in a table.

(@)

by

(©

(@

Amount of Sa!t in 100ml of water (g)_{ E!ectricai conductmty (uhitlkm)
0 : 1‘ : 5 :  DI'S e
1o S B ,
What could material P be made of? S _

- State one'\?ariabi'e about material Pithatimust be kept,thé same for ayffair: tési, {1’]7

What is the re!ai;onshlp between the amount of salt in the water and eiectnca!
conductivity of the water? , , [2]

Nanda did the experiment with no salt added as a control set—up What is the
purpose of hamng a control set—up? : , M

End of Paper



ANSWER KEY

YEAR  : 20
LEVEL T ;’Pr:marys
SCHOOL  : Rosyth School
SUBJECT : SCIENCE'
TERM Wesghtedkssessment
: Book!etﬁ S g , i :
Q1 |3 |Qz (2 iG3 |3 1Q4 4 105 |4
|1 |a7 |3 a8 |4 |as |1 Jaio |3
Q1 |2 |12 |4 |a13 |4 |\ a4 |2 |
 ~¢"¢:;::  :~,,  [ \ .
, 'Booktet B P |
Q15 |(a) Circulatary sysiem
~ |{b) The functsen of Xis to pump b!ood to transport digested
| food, water and oxygen to all parts of the body and transport
carbon dioxide to the lungs for removal.
| {c) Blood, blood vessels. :
Qil6 (@) As the number of leaves increases, the volume of water at
| the end of the exmment decreases.
{b) Stomata ,
{c) V‘}‘he lesser number of leaves, the lesser the volume of water
lost through the stomata, so less water is taken in by the plant.
Q17 |(a) Magnet H’s and G’s like poles are facing each other and
‘ since like poies repel, H and G is repelling each other.
(b} H w:ﬁ drop as magnetic force cannot pass through the stee}
ring. e
Q18 [(a)To ﬁnd out how the arrangement of the bulbs w;n affect the
time the bu!b in eavh circuit remianed lighted up.
(b) Circuit 1 arrange light bulbs in series, so that the bulbs w:§¥
| lastfor a ionger pmed of time. ~
Q19 A S
~{{b) Add annther speaker in paral!el to the first speaker.
Q20 | (a)Steel :
S {b) Thickness m‘ material P




(c) As the amount of salt in 100m! of water increases from 0 to
30g, the electrtcal conduct:v:ty increases from 0 to 10. As the
amount of saltin water increases from 30g to 50g, the eiectncal
conduct;vnty remains the same.

(d) To compare and confirm that the e!ectnca! conductw;ty of

water is only due to the amount of salé

il



